H AND POH Nome

. 7 neuTroI
€ 7-14 basic

pH = =log [H1 - Soif [H1 = 10°M,pH = 6.
pOH = -log [OH] Soif [OH] = 104 M, pOH = 8.
Together, pH + pOH =

o sk s
T

Complete the following chart, '1
[H1 : pH : [OH-i pOH . » Aciﬂic 61:' Basic '

105 M | 5 - .1049 M 9 Acidic .

;

104M

102 M

11

12

10°M

10" M

13
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103 What 1 ihe pit of 2 0.001 B HCH solution?

11) What is the [H'] in a solution of pH = 6?

12) Whatis the pi in  soluton with [H] = 1.0 X 10%M? |
13) What's iﬁé_ pitin a solition with [OH] 10X 1 05M?
14) What is the pH of a 0.1 M solution of NaOH?

15) What is the [OH] in a solution with a pH of 57

. ,7;;1,.533:*& v 31

16) What is the pH of a .005 M Ba(OH); solution?

17) What is the pH of a solution with {[OH] = 0.001 mole per liter?
i the L Sl e, i s the [H;07?
- 19) If the pH of a solution is 6, what is the [OH]?

20) What is the pH of a solution with [H;0'] = 1 X 10" mole per liter?
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